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B.Ed (As Per Syllabus 2015-17) 2* Semester
1046
PEDAGOGY OF SCIENCE (In all Mediums)
{Same for USOL Candidares)
Paper: C 14 & 15, Opt, (xi)

Time Allowed : Twao Hours| [Maximum Marks : 40
Note : (1) This question paper consists of four Sections — Sections [,
I, I and 1V,
(2} Each Section has twa questions and the candidare hasto
allempt one question from each Section.
(3. Eachquestion carrjes 10 marks,
SECTION-1
[.  Explain the role of excursions in science. Asa teacher, what steps
will ¥ou take 1o organize excursions effectively ? 347
I Writeshort notes on any two of the following -
(a} Useofe-books ande-journals in science.

(b)  Teacher n'mumlsimciemetm:h'mg

(e} Value of science club, 545
SECTION-11

UL What are the advantages of science kits 7 Explain secondary level

science kits. 347

V. Draw the labelled sketch of ;| IBI’;ILLEE-I:LH'!'I-lﬂhﬂ-rﬂlI}r}’ reom forg
high school. Deseribe the importance of practizal work in science,
fi+4
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SECTION-111
V. Sugpest ways and means for professional growth of science teachs
Comment upon the present status of professional growth of science
teachers inour schools. 7+3
VL Dizeuss the importance of lesson planning in teaching of sciénce,
With the help of an example, elaborate Herbartian steps of lesson
planhing, | 3+7
SECTHIN-IV
VIL (a) Whatismeant by 'reflection of light' ? Define :
(i)  Principal focus of a concave mirror,
{n} Focal length of a concave mimor.
(b} Descrbe differert modes of nutrition in detail, 5+5
VIIL {a} Explain Bohr's model of the atom.
(k) Write briefly on Acid Rain and Ozone Layer Depletion.
5¥5
(Fe=dt wmem )
Note : (1) This question paper consists of four Sections — Sections |,
I [I1 and TV.
(2) Each Section has twe questions and the candidate has 1o
attempt one guestion from each Section.
(3} Eachquestioncamies 10 marks.
w1
I R # gaw ) e e $i0 SEes oA u H
w97 ® waEErd dn § adifea we & o wm wEw g |

+7
I fat & sy dfde dve R
@) Twm ¥ bgeet A doPst = oo
(@) P & sars § s HaaEio
m P wm = wmea 5+5
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1ML T et & = are @ 7 Sl e @) Bem ) o) s
#41 | 3+7
IV, & wE & T Seee S s @ gaiee e
A0 | T o ydfe s & wEe w0 aols = 64
W= 11
V. e & s & senfos B & R B et ®
A 81 gt wnd # B F e S st B A
e feafd wr frmef) &4 743
VL famm & swrs & o @9 F a8c 90 790 F4 0 I5E H
HEWET A, WE T & gdleua wwol Y mmenm w91 347
w-Iv
VI (%) ‘wem @ ufifas 3 o aenf & 7 ofaie w49
() e W e Sy
() e U A FAw v
@ e B B W R 50 345
VHIL (%) &8¢ % 509 qigs $1 g i1 |
() ofgE i@ S g e W dfde IEm w90

3+5
(deet nigere)
Note : (1} This question paper consists of four Sections— Sections L
1L 1N and 1V
{2} Each Section has two questions and the candidate has o
attempt one question from each Section,
{3) Each question carries 10 marks
Frar-1
1. fefomrs e Aapu2 & sl &t fowrfimr 231 wiftnmum
€ 39 3, 3t Rorue § ygeardt S0 o0 WTHWS 596 Bt
€t aeH dadl ¢ 347
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1V,

VL.

farft @ Qu Wi 2= i -
(@) Tefomrs fa F-umeat w3 grufgast St eeg
(n) fefamirs & wiftprus fs witmrus feoiesoe BO°

(g) feforers a8y w0 Wdzw 45
grar-11

fefemrs feiet € &t &g o% ¢ Raedt Jug o fefimrs Rt

ﬁﬁ:’m'ﬂ'ﬁ a7

TTET FE® B Baua-nT-yEaHE and 7 piifas efdae
geg | fefimrs i yofra sy T idTe o egss 291 644
g1l
fefamrs 2 niftmum @ fewfea feam =t fofht i
Aot BT gE el w3 naw e fefimns € niftomugt @
feerfea fegm ot Toans mest Sus vt a8 743
fefamis € wifterus 9 s Gaw & wilge Bus S99 59
BETeR #f FUTEST 7%, US Gre' © Jogions aont o
fenirfemr &9 347

-1y

VIL (&) ‘yamm @ ufsfiez" o &t wsse & 1 ufeerfim a5 ¢

(i) wEIw §iE T iy Feg-fig
(i) we=gw |HE o dedt St |
(») Un=E oot fafds fedht = sazs 59| 5+5

VIIL () 809 ¥ uawz vaw =F fenrfir a9 |

() ¥R ear w3 Goa ugs muE = Hibus 88y 59
$+5
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